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1. anEe [ fewd fes T et i Weaman wwd taswren s
g HuATETdl i e iR onfor quardiar e A e e
(1) FE0g 99
(2) WiG T TS
(3) wERE e A
(4) d.8.MIEH
Lokmanya’s son Shridharpant Tilak invited the wrath of the orthodoxy of Pune by
inviting the cultural troupe Shrikrishna Mela which was founded by for a

performance in the Tilak’s residence.
(1) Keshavrao Jedhe

(2) Pandurang Nathuji Rajbhoj

{3} Mahadev Shastri Divekar

(4) L.B. Bhopatkar

2. faeama shemer 9.k, we% uaE, “Fie TR = RO JH1 qREgd G
TOAET T HAT, 9O AT AE g 0 gndeEern e Sfduaen geq ahal e

. ® foramaa i 2
(1) =T EHs (2) 7. sfEER
(3) T ATRER (4) wATE B

Noted historian Y.D. Phadke has commented, “Orthodox and pedantic writers
attacked him by pointing out his grammatical mistakes, but the ideas of human
rights and equality which formed the bedrock of his writings, could not be silenced
by them”. Who was this thinker ?

(1) Baba Padmanji (2) B.R. Ambedkar

(3 G.G. Agarkar _ (4) Jyotirao Phule

3.  YRIAOhI ST JaTEeT Guesh fEfen armnf S geTaE gee AT 2
(1) vaig (@ fawaa
(3) FITHM 4) <@ EAw

The editors of which of these newspapers were not jailed for writing against the
British government ?

(1) Prated (2) Vishwavrutta

(3) Jnyanprakash (4) Desh Sevak
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4. gﬁaﬁuﬁma@ﬁmmﬁw
3T ATedt Tg HYedTal HEME H9E We Hiesd.
¥, RN GRRIBIE! U HhH GRIGgeI= bl el
F. RN AqHAH GIaFRIFHGA Ha HIEH! ard d § FoEarr 8.
Tt I
(1) 31, 9 301 6 & THAHE G THAA fum .
(2) R TG AR T F T H0 IR,
(3) 31 3T & Iy GROMA & IR,
(4) 341 IRoTW §, T T 91 gRONA & AR,

Read the sentences carefully and choose the right option.

a. Cotton prices in Maharashtra crashed after the end of the American Civil War.

b.  The British government gave no tax relief in spite of a drought in Maharashtra.

c. Farmers in Maharashtra were forced to take loans from the moneylenders and
went bankrupt.

Answer options :

(1) a, band c are unrelated.

(2) ais unrelated. b is the cause of c.

(3) cis the effect of a and b.

(4) acauses b and b causes c.

5. 1912mﬁﬂ@wg%nmmmﬁmmmm,%wmwﬁ

R fife s A,
(1) g B TG (2) wURH TmEg
(3) HEWR K @M (4) 9T TE

The sixth Session of the Muslim League in 1912 had invited as guests, Muhammad
Alj Jinnah, Bishan Narayan Dhar and .

(1) Abul Kalam Azad (2) Sargjini Naidu

(3) Mohammad Ameer Khan (4) Kamala Das

6. o sy it g2 freiem a1 qeaiat s 2vm Gu e’ R Wi Sl atae ?
1 G e @) T e o
(3) Tereht %d (4) U wd
Who published a monthly called ‘Samaj Swasthya’ dedicated to the issues of women’s
health and family planning ?
(1) Dhondo Keshav Karve (2) Raghunath Dhondo Karve

{3) Dinkar Karve {(4) Irawati Karve

TEEH HETETE! SR / SPACE FOR ROUGH WORK
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30 e, 1906 Ut Segr gfcw <fm=h T Fwedl, d=a Tt AW <41 famre
At gt it a8,

1) R T (2) gfeem T uftwg

(8) Hftew wdta & (4) e i SR

When the Muslim League was founded on 3oth Decembér, 1906, the members had
gathered in Dhaka for the 20th Session of the . ,
(1) Indian National Congress (2) Muslim Education Congress

(3) Muslim National Congress (4> Bengal Muslim Congress

8. UHEW 9w TN TeaHal foen avwget 1867 Ted FreA FTEREETE W
(1) <R viglt TEEH (2) SAERH WighT aEEw
(3) Arrm I fewsw (4) YIE WA
After the demise of the Paramahamsa Sabha, its members founded the Prarthana
Samaj in 1867 with __ as its President. '
(1) Dadoba Pandurang Tarkhadkar (2) Atmaram Pandurang Tarkhadkar
(3) Narayan Waman Tilak (4) Bhau Mahajan

9. 1898 - 99 Wed TeiedT |y famreT anft SendfioE a1 RS WERY 94 rash SR =&

(1) =i Tee (2) g g
(3) drwurs feaw (4) e deaw

In 1898-99, the two plays named Bandh Vimochan and Lokmatvijay were
proscribed because they allegorically referred to .

(1) Justice Ranade (2) Lord Curzon
(3) Lokmanya Tilak (4) Lord Sandhurst
10. RS YNE A6 WEEd ¥ wifded T Iieg a1 ‘wrdl G 3 s U (e
Faeh=an, el whrer w9 1) T MR gE 2. |
(1) wer B o (2) wErR At fm
(3) WER W WD (4) TR aRE® &

, a revolutionary leader of the Bharat Mata Society of Lahore addressed
many meetings that began with the song, ‘Pagdi Sambhaal Oh Jatta " (Oh Peasant,
take care of your turban/self-respect ).

(1) Sardar Trilochan Singh .(2) Sardar Ajit Singh
(3) Sardar Bhagat Dayal ‘ (4) Sardar Tarlok Singh

THOLT HITHIS AR / SPACE FOR ROUGH WORK P.T.O.
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11, ﬁwa@(mﬁmﬁwaﬁw) :

IeBY AfUHER
A IR 15 i &’T@m
g, Aeen 17 il  PIEETEER EE
F.  ITR% 18 iii.  HguETEn I
3. Igeen 14 v,  FgwEdH qHIE

v, el e

qaidy IW '

H ) < k-1
(1) i v 1i 1
(2) v iv i iii
(3) iii v i i
4 v ii iv i
Match the pairs (Articles and Fundamental Rights) :

[ A! ‘B’

Articles Fundamental Rights
a. Article 15 i Abolition of Titles
b. Article 17 ii. Equality before Law
c.  Article 18 ili.  Lack of Discrimination
d. Article 14 v.  Abolition of Untouchability

v. Equality of Opportunity
Answer options :

a b c d
(1) il v 1i i
(2) v iv i i1i
3 1 - iv i il
4 v iii iv i

12. WRIAYH FIvd AT TTaedie Tag a3 (Hded) Smed ?
3. WRATS GEMiHeE, Tehdl SN CHTEHAT ST TS S 9 T G T,
¥ AROAR g S0 98 Tgead i aEri e et .
%. faamie g onfh awemmarg, mys 3¢ fawfim s,
et @ i fae,
(1) w¥a« (2 wRAAMS (3) wRINMIF (4) AW
Which of the following is/are Fundamental Duties of the Indian Constitution ?
a. To respect and protect sovereignty, integrity and unity of India. '
b. To abide by the Constitution and respect the National Flag and National
Anthem.
c. To develop the scientific temper and spirit of inquiry.
Select the correct code from the above.
(1) Onlyb (2) Onlyaande (3) Onlybandc (4) Allof the above

PEEIT HHTETA! ST / SPACE FOR ROUGH WORK
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18, 3O $YT ABGI.
(1) &, 1947 BeY WRaATSA WA 99 TR SasrEl AnresT e

(2) #fome fivm A1 1946 =1 ola TNUA wieled WiYgE GWgRT WRATE! TSIge
HEitaad wwef.

(3) T, 1946 TEA TATHH FISA HTHH HA WEIeAT Tt Hew ToRd.

(4) vIRGreAl Wiy T¥waT IgHTe A3 eRHal 8. TNg SE FH el

Select the incorreet statement.

(1) The design of the National Flag was adopted by the Constituent Assembly of
India in July, 1947.

(2) The Constitution of India was enacted by a Constituent Assembly set up under
the Cabinet Mission Plan 1946, _

(3) Mahatma Gandhi was not a member of the Constituent Assembly established
in June, 1946,

(4) Dr. Rajendra Prasad presided over the inaugural meeting of the Constituent
Assembly of India.

14. Greiwtd Hiven e quEy @ g g R 2
A q. FgaWdal . UM 3. W
qafd I
(1) SRANMNSF (2) FRHFAMVET (3) wRA AT (4) v q, g #
Which of the following subjects come under the Union List ? '
a. Railway b. War and Peace c¢. Police . d. Agriculture
Answer options : '
(1) Onlyaande (2) Onlycandd (3) Onlyaandb (4) Onlya,bandc

15. wefer fqum faam o

H. TSI @ W RIS TG STHaw.

4. T @ Fy a1 ooy e aew s s o

F. TR AT TSEMT TFIhs I8 .

FHS! Fow faum(d) T /e 2

(1) a3 2) & 3) wwaA® (4) Fwad

Consider the following statements :

a. The Governor is the Executive Head of the nation.

b.  The Governor must be a member of Union or State Legislature.

¢.  The Governor submits his resignation to the President.

Which of the statement(s) given above is/are correct ?

(1) Onlya (2) Onlyc (3) Onlybandc (4) All of the above
FULT FHTS! SR / SPACE FOR ROUGH WORK P.T.O.
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16, R glayEre fafay e gefe Td@l 3 Il 3o foen sade are Wi

Fae.
TrEt-1 ard-I1

A AQ T i, ArretE awaEe
¥, TUdE wehag ii. amferef TsaEe
%. GHed 9Y% AaTH ii,  fodw TemEE
3. USHTSN OWOEd OvfeRle 9 v, sregferars Tsame
gt I ;

§ q & 3
(L 1 1ii i iv
(2) iv il i 1ii
3) ii 1ii v 1

(4) iii i ii iv
Match List-I with List-II and select the correct answer from the codes given below
related to different sources of the Indian Constitution.

List-I List-II
a. Fundamental Rights i.  Irish Constitution
b. Parliamentary form of Government ii. US Constitution
c.  Joint Session of the Parliament iii. British Constitution

d. Directive Principles of State Policy iv. Australian Constitution
Answer options :

a b c d
(1) 1 iii 1 iv
(2) iv ii i iii
(3) 1ii i1l iv i

(4} iii 1 ii v

17.  Seliayh S S Irafn g 3Rd ?

# A AR - TSIEE SATared
1. gkt - fofag wmen
% uifisewgd - oom udfi| sufeard wmde semEAwl wEita aad
e Uifiseggm - wai faOdt swmEr
el I :
(1) waa A, § T % (2) h9a ®, H MV §
(3) Wad 3, MM © (4) ol Td
Which of the following pairs are correctly matched ?
a. 15 Schedule - - Allocation of seats of the Rajya Sabha
b. 8rdSchedule -  Oaths ‘ '
c. 6thSchedule -  Provisions relating to the administration of tribal areas in
Assam
d. 10th Schedule -  Anti-defection law
Answer options :
(1) Onlya bandc {2) Onlyb,candd
(8) Onlya,bandd (4) All of the above

FHoeT HHRITS! STAT / SPACE FOR ROUGH WORK
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18. Wil o fFum/A s0Ew AR/ ?

¥, qemh i nfivee § Wit tea fadiHgsTen Jeagr JEdr.

%, e i ifise § Tearen wREd nee andias e Edw.

gt S ;s ' ‘

(1) SRAFNMT (2) ST AW S (3 %ra q @ atmwd

Which of the following statements is/are correct ? :

a. Chief Minister and the Council of Ministers decide the policies and implement
them in the nation. .

b. The Chief Minister and his Council of Ministers are collectively responsible to
the Legislative Assembly of the State. ‘

c. Chief Minister and the Council of Ministers are the real executives of the State.

Answer options :

(1) Onlyaandb (2) Onlybande (3) Onlyb (4) All of the above

19. ENg FF iSal.
(1) W AP FRE & A g SR TEETE TavEs I) 31 oTR.
(2) THW AT HEET 7 ArTachientone ey aifiies TeehRer T8 . -
(3) THH AT HrE & FAeaaeE e st T wia.
(4) T AT Ry B i feRaReR sad R g S T THiraad WEd S

Select the incorrect statement.

(1‘) The Uniform Civil Code is a necessary precondition for the successful
functioning of democracy.

(2) The Uniform Civil Code will wipe out sectarian politics in the world of
globalization. '

(3) The Uniform Civil Code will wipe out the religious rights of minorities.

(4) The Uniform Civil Code will help the national integration by removing
contradictions based on religious ideologies.

20. AR TS <f TETO AR AT S HeETad HOIE A ?

(1) +<peH 263 (2) <haH 283

(3) oW 292 (4) %heH 352

The Inter-State Council has been set up under which Article of the Indian
. Constitution ? |

(1) Article 263 (2) Article 283

(3) Article 292 (4) Article 352

Zeeg] HFTETST SR / SPACE FOR ROUGH WORK ' P.T.O.
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21. WA €A O, 1950 72 fgiem s e AT FFFAETeA hefl.
(1) Tehg ¥4E . (2) IS JATEE TgE
(3) HeGW dGWTE 9o (4) IS <o
In March, 1950, the Planning Commission was set up by the Government of India
under the chairmanship of
(1) Rajendra Prasad (2) Pandit Jawaharlal Nehru
(3) Sardar Vallabhbhai Patel (4) Yashwantrao Chavan
22. e fommm wmfae fvdas R anga ?
A e ¥, T TP S A
) s, Hesdl
gt I
(1) wFa« (2) #A, Fanfus
(3) #,Hamftrg (4) o= od
Which are the Social indicators of economic development ?
a. Education b. Increase in GNP
c. Food d. Cleanliness
Answer options :
(1) Onlyb ~ (2) a,bandc
(3) a,candd (4) All of the above
23. 3N WM, FAeh, RIS, ANMGS, dlfkiesrg SN 3w Weu & oy At
foerma fdems (HDI) Avfived Jama.
(1) 3" (2) weH (3) =4 (4) T
Arunachal Pradesh, Karnataka, Maharashtra, Nagaland, Tamil Nadu and Uttar
Pradesh States fall in the HDI range.
(1) High (2) Medium (3) Low (4) Neutral
24. 73 Jnfor 744 wen gen HTHTH ST TEY .
(1) =TH 243 (2) <ty 239
(3) %aH 143 (4) e 249
The 73" and 74'® Constitutional Amendment mostly related to
(1) Article 243 (2) Article 239
(3) Article 143 (4) Article 249
25,  anfife femar &M sxvaren SRven WRarew PRiAme . T9H 9 I
(1) 3= (2) =4 :
3) (4) 9™
The objective of reduction in income inequalities was accordeda ____ priority
in Economic Planning of India.
(1) high (2) low
(3) zero (4) neutral

aoed] HTATIIS! ST / SPACE FOR ROUGH WORK
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26, Taedl YaTNe demgan s, e T TR BT
(1) 8% (2) 65% 3) 7% 4y 75%
According to the Ninth Plan target of GDP, growth rate was .
(1) 8% (2) 65% 3 7% 4) 75%

27. @l S/ faum/ A et sm/amwea ?
. onffs Feemren 63 autea wrmedld 9T soSEe 9@ @@yl 47 < W @A
e @S,

g, anfde FeeAr gfde i Soeea U8 Seaw arden <t StaT 3-5 e S afte.
F. 63 oA PRI Hierd W e Sem Ararela Sl 4-8 Th W Fecdr ITesd

RN,
qarE I
(1) 3 anfvr & grdt (2) w3
(38) « I = A _ (4) FHF

Which of the following statements is/are correct ?

a. During the 63 years of economic planning, national income has increased at the
rate of 47 percent per annum.

b. The rate of increase in national income during the first three decades of
economic planning was as low as 3-5 percent per annum.

c.  India’s per capita income increased at the rate of 4-8 percent per annum during
the 63 years of planning so far.

Answer options : : :
(1) Bothaandb (2) Onlya
(3) Bothbandc (4) Onlyc

28. . 11 @R, 2014 Tsht wiEg gy W AT = IRwE gE o e,
(1) e, Wesd], FRaar M Sekyuid I g :
(2) Tata e
(3) &
(4) Tt fafrm _
Sansad Adarsh Gram Yojana was launched on 118 Qctober, 2014 with the objective
of .
(1) Nucleus of health, cleanliness, greenery and cordiality
(2) Export Zone
(3) Import Zone
(4) Foreign Exchange

Foedl HITAIS! SIRT / SPACE FOR ROUGH WORK P.T.O.
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29. S Wi, Iggfad SR, sat e e i sreveeatE wafte geitardt vt o
Frad we wem Fur Je AR, :
(1) Hefite fgomad Tsfia wriswn
(2) U Areafis firan sifiEe
(3) @R WRd
(4) wwegean Wit aiferept faaeE
The scheme for providing residential school at elementary level for girls belonging to
the SC, ST, OBC and Minorities is .
(1) National Programme for Education of Girls
(2) Rashtriya Madhyamic Shiksha Abhiyan
(3) Sakshar Bharat
(4) Kasturba Gandhi Balika Vidyalaya
30. 1999 — 2000 W FUH T SIS JAIT Tt B ? -
(1) wenrs (2) femn (3) fagu (4) af=n
Which State was more poverty ratio in 1999 — 2000 ?
(1) Maharashtra (2) Bihar (3) Tripura (4) Orissa
31. IS YR G B AR ?
A TtEEm ¥ dWEIY
®. W T a He
gt IW
(1) e 31 (2) wad 9 (3) =1 MUl g4 (4) @ fr g g8
Which are the conventional sources of energy ? -
a. Hydroelectric b. Oil and gas
c.  Solar energy d. Wind energy
Answer options :
(1) Onlya (2) Onlyb (3) Bothaandb (4) Both candd
32. w@h faun foem wn -

. 2006 T wid™ grmg e fafa s moifea (IFCL) < s set.

9. e Eng giaw fade woh qifda wgg wemE giie seeaerdt steusedE et
e foe geaat sar .

%, TeHe, 2007 79 wiea 9 gl vehed fawm Fredih gEam e,

Fedeh! ot faur sttt smad ?

(1) AAMUIFE (2) FAMKIA (3) AAMMFHI=A (4) b o

Consider the following statements :

a. The Indian Infrastructure Finance Company Limited (IIFCL) was set up in
2006.

b. IIFCL provides short-term financing for infrastructure projects.

¢. The Indian Infrastructure Project Development Fund was launched in
December, 2007, .

Which of the statements given above are correct ?
(1) Bothaandb (2) Bothbandc (3) Bothaandc (4) All ofthe above

FoegT BIETATS! ST / SPACE FOR ROUGH WORK
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QAo HIV FHord JaTROT HaT 3 ?
F I S

4 formmrd st

®, B AHeS

. UfeRm

it I

(1) w3 (2) 3 anfr 5 g
(3) § onfo & G (4) ol wd
Which of the following energies is/are renewable ?

a. Commercial energy

b. Non-commercial energy

c Fuel wood

d. Petroleum

Answer options :
(1) Onlya (2) Bothaandb
(3) Bothbandc (4) All of the above

34.

grefier faum femma wn

¥, THATSA HANREEY 59 I8 A1 AHTAFHAR I 86 T8 F1ET YEAIHR 81 TENHITH
(WHZHRIN) BT SATIRET 378,

4. AR &N e e Hevia aufefia =i weiute wiRaTen gE i Al

% mmmmwmmzmmmmwm

aﬂaﬂﬁgﬂéﬁm/ﬁuﬁi@aaﬂ%/mﬁﬁ?
(1) o a7fr &% gt (2) wadd
8 wFWHA (4) S &

Consider the following statements :

a. Shipping transport accounts for 59 percent of India’s trade by volume
and 86 percent in terms of value.

b. India currently ranks second only te China in terms of telephone networks.
c. To encourage telecom sector, the Government of India announced the National

_ Telecom Policy in 2012,

Which of the above statements is/are incorrect ?

(1) Bothaandc {2) Onlyb
(3) Onlya (4) Onlye

e FTHTIATS! SR / SPACE FOR ROUGH WORK ' P.T.O.
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35. 1994 =1 U IAiohin st @iefieidsh! v aefl deftq oTRa 2
3., VRAR F T T Gell.
9. Gad MRAEHT a0 g,
%, 1996 Wa v @3 efimm aauht e,
g nlio aemETd! Hied gueadt dan.

gt IW ;
(1) A (2) B9
(8) e A, § M 4) 9 ud

Which of the following things are related to the National Telecom Policy, 1994 ?
a. Open to investment for Indians and foreigners.

b.  Open to investment for only Indians.

c.  All villages connected to telephone service up to 1996.

d. Free telephone service to rural areas.

Answer options :

(1) Onlya (2) Onlyb

(8) Onlya,bandc {4) All of the above

36. EAAUH arEqEhEaT ol THT WA T 399 (GDP) et s feem guifaat ?

{1 T (2) @ aEF
(3) e 9ETH (4) = AETH
Wﬁich of the following modes of transport shows largest percentage of share in
GDP?
(1) Railways (2) Road transport
(3) Water transport (4) Air transport
37. 2009 — 10 W WwAnET W fop. 1. 8.
(1) 53600 (2) 63028
(3) 63900 4) 63974
Railway route length progress up to 2009 — 10 was km
(1) 53600 (2) 63028
(3) 63900 (4 63974

el HIFTATS] ST / SPACE FOR ROUGH WORK
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38. 2008 - 09 Jra| TRm Famed e de v T _ AT B
(1) T 5225 & (2) T 5400 HH
(3) T 6485 I (4) T 8989 Hidl

In the year 2008 - (09, foreign direct investment flow in infrastructure was

(1) ¥ 5225 crores (2) T 5400 crores
(3) ¥ 6485 crores (4) ¥ 8989 crores

39. & fammrie Te THw v e ?

A, T fremm e 9. fgse
&%, o favmm 5. 39 9EgH @9
ot I ;
(1) e A (2) ¥ 3N =
(3) hath uwdl Tl (4) e wd
Which are the major problems in road development ?
a. Slow-paced growth b.  Poor quality
¢.  Uneven distribution d. High cost of transport
Answer options : ,
(1) Onlya (2) Bothbandc
(3) None of the above (4) All of the above
40. onfds Ffg=h doft, T JeT=T=T oTER AT AR T gEEd ATR.
(1) T 3 I |
(2) rerd | glagr 399
(3) TEIR A I9UM

(4) <N THUESI ITHT

There is direct correlation between the degree of economic growth, the size of per
capita income and

(1) per capita consumption of food
(2) per capita consumption of facilities
(3) per capita consumption of energy

(4) per capita consumption of communication

Foeq] HFTHIS! AN / SPACE FOR ROUGH WORK P.T.O.
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41.

16 A

anfdfe guronEewd @iefe faue e =

T IENd & A gl whvae R e .

. T T qE Y FHRIfod A" TR S R,

Flierdsht Sivrdt feren srER 31ET 7

(1) AafragEd (2) Iafs R (3 FAbFaa (4 O ad

Consider the following regarding Economic Reforms :

a. The role of Government changed from the controller to the facilitator.

b.  The Government is committed to suitable reforms in the infrastructure sector.

c¢. The Government is committed to making Panchayati Raj Institution fully
functional.

Which of the statements given above are correct ?

(1) Bothaandb (2) Bothbandc (3} Bothaandc (4) All ofthe above

42,

MY YURUHT= FBa TSRS ALY SFagald femieme relieieh! vt SR
SR gt ?

(1) 5 EE[ 39 S8

(2) TRl AN S Felen are

(3) e undiarea 34t iy faesfht qeavERE fte

(4) w0 ad FHrw

Which of the following are reasons of satisfactory balance of payments situation in
post-reform period ?

(1) High earnings from invisibles account

(2} Rise in external commercial borrowings

(3) Non-resident’s deposits and role of foreign investment

{4) All of the above reasons

43,

e wliean @32 (EPZ) ®9a Yeieidsh! Haaed g Hie ?

(1)t Frafa &9 (AEZ)

(2) W® 4NA 9 9@ &5 (FTWZ)

(3) fuiy i & (SEZ)

(4) W TR &3 (FIZ)

In which of the following, Export Processing Zones (EPZ) have converted ?
(1) Agriculture Export Zones (AEZ)

(2) Free Trade and Warehousing Zones (FTWZ)

(3) Special Economic Zones (SEZ)

(4) Free Industrial Zones (FIZ}

Foedl HHNITS! ST / SPACE FOR ROUGH WORK
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wrefier foum faama &= |

. O FERIETT ARa W JaaushiEt gEa 2000 HEA .

q. 2015 HEY YR € G WY Taavh STt FHOM 3 S HR.

®. 2015 HEY VRAT 63 TUCTH SieR Teh T[aav[sh .

TATH R/ faumA ormer smd/eTed 7

(1) wFa & (2) % 3 TH® (4) wHR AT
Consider the following statements :

a. InIndia, foreign investment was introduced in 2000 under FEMA.

b. In 2015, India emerged as top destination in FDI.

c. India received $ 63 billion in FDI in 2015.

Which of the statements given above is/are incorrect ? )

(1) Onlya (2) Onlyb (3) Onlyc (4) Onlyaandb

45,

wiefie faur fe=mme o -
A, wHA Wahe gt e T 2004 — 2005 AE #A

9. friqaum fawnmed sgmar 2002 — 2003 wea =

F. T QU RN TeEn BeaEr, 2000 Hed ).

T v faum sr=w amed ?

(1) SRAMINT (2) FRMIMNUF (3 TRANUS (4 T @
Consider the following statements :

a. Guarantee Redemption Fund was established in 2004 — 2005.

b. Department of Disinvestment was set up from 2002 - 2003.

c. Expenditure Reforms Commission was constituted in February, 2000.

Which of the statements given above are correct ?
(1) Onlyaandb (2) Onlybandc (3) Onlyaandc (4) Allof the above

Eohel FYEAT WA v feasft w@redt sheft ?

(1) 151y, 1993 (2) 159, 1993
(3) 157, 1994 (4) 153, 1994
On which day did India sign the Dunkel Draft ? _

(1) 15t April, 1993 (2)  15th July, 1993
(3) 15th April, 1994 (4) 15th July, 1994

47.

1991 < == gamon afird = sreEaEed g oA el B 2
(1) = foo Fa ' (2) T . =ferm

(3) TeL®.E (4) 'y, idg ae

Tax Reforms Committee 1991 was constituted under the Chairmanship of
{1} Shri Vijay Kelkar (2) RajadJ. Chelliah

(3) LK Jha (4) M. Govind Rao

ZeEq] HHHST JFT / SPACE FOR ROUGH WORK P.T.O.
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48. @reia faum faemme @ .

. qegafa F(VAT) & Sgaesiia # iiet st agedt o,

9. JpEatid #E uwa-fg Fowen s gl o

%, u@aﬁh HA1 SRS ge TN Sterea TEviiHEE guRn N widerh ate

aﬁaﬂa‘s‘w Aot e wiva o 2

(1) SRATS (2) FRIAIHF 3) wRAIF (4) FA§d

Consider the following statements :

a. The Value Added Tax (VAT) is a multipoint tax collection method.

b. Non-VAT is a single point tax collection method.

c. Implementation of VAT will improve the purchasing capacity and living

standard of the poor people.

Which of the statements given above are correct ?

{1) Onlyaandb (2) Onlybandc (3) Onlyaandc (4) Allofthe above
49, TG T 991 FOAA (GST) YAl HIURAT HEUT FHET §id ATH 2

A, 5TER 9. 12%FF H. 22T T 28%F*

gt 3| : :

(1) & 31 a7 & (2) & & I g

(8) wa A, § AT (4) ®F &

Which of the following tax rates is not included in Goods and Services Tax ?

a. b percent b. 12 percent c. 22 percent d. 28 percent

Answer options :

(1) Onlyaandb (2) Onlycandd

(3) Onlya bandd (4) Onlyc
50, @rcia faum faemoa = -

A, HEr Fshie wEe, 1956 TR bt &1 Iat-os 9 fashiat st St

q. g fophiet cowed S, 2008 YER 3% a6 2% Td ST ST AT,

%, e fEhie 71 YT aed (ge) e |l U 3R,

Flied=h Hir fram steR snga ?

(1) SFd AaF (2) HEIETH (3) HEI AT (4) e &
Consider the following statements :

a. The Central Sales Tax Act, 1956 imposes the tax on interstate sale of goods.
b. The CST has been reduced from 3% to 2% from June, 2008.

c. The CST is an origin-based non-rebatable tax.

Which of the statements given above are correct ? _
(1) Onlyaandb (2) Onlybandc (3) Onlyaandc (4) Allofthe above

TEEYT HIRTHIS! ST / SPACE FOR ROUGH WORK
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51. weha foum fagma = .
. (o — Aeder) 2016 — 2017 A WA anfhasti frafa, 13-5% t @i,
q. (ufimr - fedar) 2016 — 2017 A1 FBM WAL WigqTl! TGl AW 8-8% At T A,
%. 2016 — 2017 (WPE — Aegw) 7Y yRar 9@y, i SR T s
10-3% it 92,
et R RremA s ST 2
(1) ®FAATY (2) BFRIIT D (3) ®HFF (4) ®F1 A
Consider the following statements : : ‘
a. India’s export to Africa declined by 13-5% in 2016 - 2017 (April — November).
b. During 2016 - 2017 (April — December) India’s imports of capital goods
declined by 8-8%.
c. India’s imports from CIS and Baltics region declined by 10:3% in 2016 - 2017
(April - November).
Which of the stateménts given above is/are incorrect ?
(1) Onlyaandb (2) Onlybandc (3) Onmlyc (4) Onlya
52. Yl dr fum fast

H. AT SRR SR qurt FoaEdt @1 1962 e yHeanl gefeen afid
T 31T,

. o gy gEle B, 9 T aEge e faeemad) oTeves demft 9 S A

ST <Rl Td 919].
Tt I ;
(1) s A (2) ®Ed ¥
3) FAafradd 4) whedh T T

Select the correct statement from the following :

a. In 1962, Ramaswami Mudaliyar Committee was appointed for the scrutiny of
India’s Trade Policy.

b.  This committee suggested that, essential machinaries and raw material should
be imported for the development of Energy and Transport sectors.

Answer options :
(1) Onlya (2) Onlyb
(3) Bothaandb (4) None of the above

TS PHMIS! ST / SPACE FOR ROUGH WORK P.T.O.
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53. 9UhE SANR YR 2009 - 2014 d€ite @refier faum faand o
3. gﬁ@@ﬁﬂﬁﬂ?ﬁ?%ﬂ%ﬁﬁ%2020ﬁ%ﬂmﬁ$mﬁwwm
4. YGh AR YT 50 e SIS THTAY SlEd HEid Seis’ St Fel.
%, g gdiE il seareT A fedar, 2012 ved SR e
FhcTteh! v faum =tmy 3ma ?
(1) S AGT (2) FHFATH (3) $FAATH (4) i ga

Consider the following statements regarding Foreign Trade Policy 2009 — 2014 :

a. The long-term policy objective for the government is to double India’s share in
global trade by 2020. '

b. Foreign Trade Policy has added 50 new markets to the Focus Market scheme.

¢. Government has announced incremental export incentivisation scheme in
December, 2012. :

Which of the statements given above are correct ?

(1) Onlyaandb (2) Onlyaandc (3) Onlybandc (4) Allofthe above

54. TaRsh =mar 4R (2015 — 2020) HE) TH.3.3774.U4. § UH.3.379.04. Jraqiara § gadq feeft

.
(1) o o 2) Tl e aags
(3) T g@m (4) T w=mn :

Foreign Trade Policy (2015 — 2020) includes MEIS and SEIS which provides
incentives and rewards in terms of .

(1) Duty Credit Scrips (2) Export-Import Passbook

(3) Import Licence (4) Export Licence

55. wrar faesft de faavEhh arefia fserft 3ig FE I
(1) W fged =t 519% o smymT=aT arear= forEER a7

(2) st TravE dadq Aes
(3) W fereg deht st widta A
(4) et wd
In India, FDI inflows were recorded under the following heads :
(1) Reserve Bank of India’s automatic approval route for equity holding up to 51%
(2) Foreign Investment Promotion Board
(3) RBI Non-resident Indian Scheme
(4) All of the above
e HIHTEIS AN / SPACE FOR ROUGH WORK
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21 ' | 13

92 foreht Taaves srdead= IccAET IRV Aed FHd, W reamde foadElt oA
TeeaTsft FEaTE anfor o 3.

(1) /AR TeE (2) o=l e

(3) e weart (4) Heca TEETE

FDI helps to increase the productive capacity of economy, while foreign portfolio
investment is of more speculative and is thus .

(1) sustainable "(2) volatile

(3) increasing (4) decreasing

57.

el foum forama =
A, AHER, 2004 5, Il anfr aifie Fredemforss, mites anfir arafEs T ggundis
 100% 990 T TS YA FearEd! TEHRA qErr el

¥ I, 2004 7, WERA UQIoRM gEdiel TR YE Taaus e 100% 94
@I,

F. SFERM 3-SR ATHEERE T T8 aavs 80% Foamwmd qarnt foefl,

TS v/ /A e snd/enge 2

(1) S HA (2) TRIHATH (3) I AT h (4) ®FAEIH

Consider the following statements :

a. In January, 2004, the government allowed FDI upto 100% in printing scientific
and technical magzines, periodicals and journals, ,

b. In January, 2004, the government raised FDI limit to 100% in petroleum
sector.

¢.  Presently 80% FDI is permitted for business to business e-commerce.

Which of the statements given above is/are correct ?
(1) Onlya (2) Onlyaandb (3) Onlyaandc (4) Onlybandc

58.

WA SEUEE HY=are mor o= Fee reflenmm SR

9. 9 e 9

¥, Naifies faew g3em

3. fom mamem

! HIvd v IrEeT R ?

(1) $FaA9d (2) SR HAT (3) BIA I TS (4) TR e el

The following agencies are controlling the activities of Multinational Corporations in
India :

a.  The Ministry of Company Affairs

b.  The Reserve Bank of India

¢.  The Ministry of Industrial Development

d. The Ministry of Finance

Which of the above options are incorrect ?

(1) Onlyaandb (2) Onlycandd (3) Onlyaandd (4) None of the above

FHeed] B! AR / SPAGE FOR ROUGH WORK : P.T.O.
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59. oy onfile Smed ydiedeh e @ A ?

A, U SR e (FTZ) 9. faia s =9 (EPZ)

%, s g@rEd (IE) g W §gt (FP)

At IW ;

(1) %5 A aAfn g (2) ®ad § oMM g

(3) & & 3 ® (4) ola wd

Which of the following are included in Special Economic Zone ?

a. Free Trade Zones (FTZ) b.  Export Processing Zones (EPZ)

c.  Industrial Estates (IE) d. Free Ports (FP)

Answer options :

(1) Onlyaandb (2) Onlybandd

(3) Onlybandc (4) All of the above
60. wreftd faur feama v

A, g AW feft € age g faow gean ang.

. "EN 200 <0 g A7 e wwee s,

%, g A fft srardie SEEREe qg SwenT= awrEe aunel et 24,

Fleehl HIvrt faum st eaga ?

(1) @A (2) #FA9dS . (3) wEATHE (4) I Hd

Consider the following statements :

a. The International Monetary Fund is a specialized institution of the United

Nations.
b. The IMF currently has 200 member countries.
¢.  The IMF provides funds to a member country experiencing temporary Balance
of Payment (BOP) deficits.

Which of the statements given above are correct ?

(1) Onlyaandb (2) Onlybandc (3) Onlyaandc (4) Allofthe above
61. yowafda sueeui wiefie fqum foamm =0

A AT FUA aged A8 FHOITTS W@iﬁ X AN A

. @ g fafy aegEdl gevafda s02 o w ad aﬂ%ﬁ

F.  Hogarda T yomelt 10 T, 2006 9T IWET .

FHAYE! FHIUT faam == 2 mea ?

(1) BFAAAME (2) FRMIAF (3) S A MU ® (4 0w wd
Consider the following statements regarding Value Added Tax (VAT) :

a. VAT is provision for eliminating the multiplicity of Indirect Taxes.
b. The rate of VAT on various commodities shall be uniform for all the States.

c. VAT system is implemented from 10t April, 2006.
Which of the statements given above are correct ?
(1) Onlyaandb (2) Onlybandc (3) Onlyaandc (4) Alloftheabove

ST HHRTS! SR / SPACE FOR ROUGH WORK
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62, Tt HEgeEll TS et FurE waw gl ?
4. SEMETS 39
%, WYY 3 TH (GREES I9HH)
i I
(1) w3 3 T 9 (2) waq A YT %
(3) e W NN H ' (@) whawd
Which of the following are included in Non-Tax Revenue ?
a. Receipts from Fiscal Services
b. Interest Receipts
¢. Dividends and Profits (Government Enterprises)
Answer options:
{1) Onlyaandb (2) Onlyaandc
(3) Onlybandc (4) Al of the above

63. Gl fur faamo an .
A, &g TN UG @O TUW dwiaid STuieAEl SRU YW 2015 — 2016 HER

11-4% Fn. ,
q. dy TETAl A 2 TE S SERATH SO YA 2015 — 2016 TEY 8-3%
F. g ST Yigael =i TE ewidata ScareRil STEOR W 2015 — 2016 T 1-7%
q. |
Fheh v faun i sma ?
() wraaA=a (2) ®FIAIF
(3) TR ATH ' (4) e ud

Consider the following statements :

a. Central Government Revenue Expenditure to GDP ratio was 11-4% in
2015 - 2016.

b.  Central Government interest payment to GDP ratio was 8-3% in 2015 — 20186.
Central Government Capital Expenditure to GDP ratio was 1:7% in

2015 — 2016.
Which of the statements given above are correct ?
(1) Onlyaandb (2) Onlybandc
(3) Onlyaandec (4) All of the above

. WOET HIHTFTS! AR / SPACE FOR ROUGH WORK ' : P.T.O.
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64. %Wnﬁmaﬂmmmom-zow)@ﬁﬁamw:

wieq ‘or

(Fra¥fier)
A TEEA @ i.
9. d RN w® ii,
%, R | iii.
. 4 ¥H{gH iv.
Waﬁ H

A T & ®
1) i it i iv
(2) iv Hi i 1
3 Hi v i i1
4 i i v i

Hiaw @

(e Jwiieta SearenTe TEaT)
1-9%

07%

3-9%

2-5%

Match the following regarding Central Government Fiscal Imbalance (2015 — 2016) :

Column ‘A’ Column ‘B’
(Particular) (Percentage of GDP)

a. Revenue Deficit i 19%

b.  Gross Fiscal Deficit . 07%

¢.  Primary Deficit . 39%

d. Major Subsidies iv. 2-5%

Answer options :
a b c d

1) i ii Hi 1y

2 v oH i i

(3) 1 iv i i

{4) i i iv il

ST FIHTHIS] SR / SPACE FOR ROUGH WORK
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65. Wi faam famma o .

#.
.
+.

TRYSH ¢ RO SIef WA SE @ W .
TR e TV UHYT STHRET THU @ W 3.
TAHIERT g2 & aerien @8 ami fssom=n wgur gegeft werst fiesies swa.

Tttt S fre s s ?

(1)
2)

3)

(4)

AT
T ®
TE AT H
Tl ga

Consider the following statements :

a.

Revenue deficit means the excess of current revenue expenditure over current
revenue receipts.

Budget deficit means the excess of total expenditure over total revenues.

Fiscal deficit indicates the total revenue requirement of the government from
all sources.

Which of the statements given above are correct ?

(1)
(2)
(3)
(4)

Only aand b
Only band ¢
Onlyaandc
All of the above

(1
(2)
(3
(4)

(1)
(2)
3
(4)

__uEd % g fawmed .

o I FOAEIET @9
wrnfaes aiade @=

S CHEICUERCE]

o s faear @

is not a development expenditure of fhe Central Government.
Expenditure on interest payments
Expenditure on social services
Expenditure on subsidies

Expenditure on expansion in developniental activities

FHoTT FHFE! SR / SPACE FOR ROUGH WORK P.T.O.
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26 A

Rl T qHEY gétea srehweare sRummme gy ?

4. 99d =4 98

F. e qatapid

qgidt S

(1) waa 7 FM0T « (2) ST 3 M &
(3) ww & I ® 4) a0 wd '
Which of the following are the effects of Deficit Financing ?

a. Risein prices '

b.  Change in the pattern of savings

¢.  Credit creation by banks

Answer options :

(1) Onlyaandb (2) Onlyaandc
(3) Onlybandc (4) All of the above

wiefid faum g =

3. W@mwwﬁtﬂﬁawﬁwmwaﬁammm
4. ol femrh s g ofs i sfsearw I Sach R,

Flel=hl HivR Fum(d) T SR/ ?

(1) %o 31 U 3]

(2) ed 9 SO I

(8) 99 I FUT Rd

(4) A 99 ALEE TF oMma

Consider the following statements :

a. Treasury Bill system of financing budgetary deficit was discontinued
since 1997.

b. Treasury Bills are replaced by Ways and Means Advances (WMA),
Which of the statements given above is/are correct ?

(1) Only ais true

{2) Onlybis true

(3) Both a and b are true

(4) Both a and b are false

HEAT SIS AT / SPACE FOR ROUGH WORK
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69.  TSThidia SETerEd) SN igruTh AT FREEeM @efi fum fema
H,  Fg WHT TRBNT Ferserdl nfr SIS STaedTeT FTEeT.2004 We BT el
4. 2009 va wegel geid ¥e HEA FAE VEA.
®. W, 2000 9 T T SeaigATeAl 3% WA Torhrd g2 FH Fw fuffa fi9.

Tl v faum TR s ¢
(1) AT (2) SFEIGTFH
(3) wHA AT FH (4) =hath o

Consider the following statements regarding the FRBM Act :

a. The Central Government passed Fiscal Responsibility and Budget
Management (FRBM) Act in 2004.

b. It aimed at revenue deficit to fall to zero by 2009,
c. Fiscal deficit was to be reduced to 3% of GDP by March, 2009.

Which of the statements given above are correct ?
(1) Onlyaandb (2) Onlybandc
(3) Onlyaandc . (4) Al of the above

70. el fem R
. TSI TN SHEeAa R fgred o ageardt yfies v ved.
q. [T IR $el IUAYIT Heq A RS S W ged §% .
%. W fEed 9% auigd dF e usa fam wfva o qud ot g s

.
FhEAH Fordfl faam wiaw smed 2
(1) $RMATH _ (2) HSFTIH
8) wRATS (4) =bw ud

Consider the following statements :

a. The Reserve Bank of India plays a vital role in fiscal management of the
States.

b. An important function of RBI is to help the States to raise market loans.

The RBI has been organizing the State Finance Secretaries Forum two times 1n
a year at its headquarters in Mumbai.

Which of the statements given above are correct ?
(1) Onlyaandb (2) Onlybandc
(3) Onlyaandc {4) Al of the above
Foe] BHTS] RN / SPACE FOR ROUGH WORK : P.T.O.
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71, QrAEE FI Y= SgEsn [Gaam wrign anfd 3umn I saeny/aaaten fdf
IqeTsY B ATE ?

(1) un"iE AefHwey
(2) g rfEshed
(3) spAmiE srduseq
(4) IFEAUFHRH (Lame)/FHTede (duck) FeEHeq

In which of the budget may the existing programmes and activities not be
automatically funded ?

(1) Traditional budget
(2) Tentative budget

(3) Zero-based budget
(4) Lame duck budget

72. @S faum feumwa e
. ug fachy syaeenys e Tue 1993 99 wed.
9. UHg M aue 999 S §Ra Ea, 2013 Ae A,
#F. T ofuaad M T 2 stfedwy, 2005 o Aed,

Tt wordt faas atar 2 n2q ?
(1) SR ATS (2) HFIEITH
(3) TR HETH (4) o0 &d

Consider the following statements :

a. The National Institute of Financial Management was set up in 1993.
b. Rajiv Gandhi Equity Saving Scheme was launched in February, 2013.
¢. National Small Saving Fund was set up on 20d October, 2005.

Which of the statements given above are correct ?

(1) Onlyaandb (2) Onlybandc

{(3) Onlyaandc - (4) Al of the above

FeeqT SIS ST / SPACE FOR ROUGH WORK

o ol e o FRIEI TR e




Answer options :

(1)
(2)
(3)
(4)

a b c d

i iv o ii
i i iv i
ioiv i iii
iv i i i

ii.

1ii.

iv.

A 29
73.  @rm Sen faen.
wom @
(o atra)
¥, ufgen fow smm
9. e fam A
%. gEmEl fam s
g aual faw s
it IW
H 9 = €
(1) il i iv il
(2) i il iv il
3) ii iv i iii
4) iv i i iil
Select the correct pairs.
Column ‘A’
(Finance Commission)
a. I¢ Finance Commission i.
b. VI Finance Commission = ii.
c. X' Finance Commission - ii.
d. XII* Finance Commission iv.

13

Column ‘B’

(President of Finance Commission)

K.C. Pant
K.C. Niyogi
V.S. Kelkar

Yashwantrao Chavan

FTEYT BTG ST / SPACE FOR ROUGH WORK
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74.

30 A
TIRNIE qE =+ R SIUQT SRS &9l § 2T,
(1) wrsaet v
(2) weyel @«
(3) U EH
(4) AR G2
Fiscal deficit = + Government’s market borrowings and liabilities,

(1) Capital receipts

{2) Revenue expenditure
(3) Total expenditure

(4) Budget deficit

75.

wreire faem foa=me = -
., JoIE Y AT A1 1 FRE, 2013 TS SER Sheft e

g geEadion wRadie 35 foeen e & A asfovam et

F.  TIY W Sl A 8 @ ean onfi yeem s o @ Seam a9 et Aieh
3R

e FHoR/R faam/A wea ome/a ?

(1) SR AT

(2) ®EA

(3) PFddED

(4) e I

Consider the following statements :

a. The Direct Benefit Transfer Scheme was introduced on 15 January, 2013.
b.  In the beginning, this scheme was implemented in 35 districts in India.

c. The Direct Benefit Transfer is designed to reduce corruption and control
expenditure.

Which of the statements given above is/are correct ?
{1) Onlyaandb

(2) Onlyb

(3) Onlybandc

(4) Onlya

e HIATHIE! ST / SPACE FOR ROUGH WORK

A A e <



76.

31 "3
a+bTEv a @ b= gat.
a —b FEY a8 b =¥ 74U,
a x b T a ¥ b= WS,
Wp+qxr+5xt+uxv,mvwmﬁ'@ﬁmﬁmﬁ3@.
it S
(1 2@
2 3%
(3) 17t 3 wata s
4) 44
a + b means a is the daughter of b.
a —b means a is the husband of b.
a x b means a is the brother of b.
Ifp+ q¥r+ 8 x t + u x v, then select the order of present generation of v.

Answer options :

(1 2nd

(2) s

(3) 1%t and oldest generation

(4) 4th

77.

guigiem LEFGHI o1 ey el L9 1 & iR sween fafay guiar wer=h e
Fraer.

L 4 (2) 3!x2!

3 2 ' (4) 4!1x2!

Select the number of different groups of alphabets that can be formed from the group
of alphabets LEFGHI that have L and I at extreme positions.

1 4 (2) 3!x2!

(3) 2t (4) 4!x2!

FooqT FHTEIS! AR / SPACE FOR ROUGH WORK B -~ PT.O.
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78.

32 A

9 1 Tt D6D41 A1 I ¥ T PR i wrdl. Rt s oof Ruen a1 sede

(1) 54 (2) 27 (3) 36 (4) 63

DéD41 is a five digit number that is divisible by 9. Select the minimum sum of the
digits that satisfies the given condition from the given options.

(1) b4 (2) 27 (3) 36 (4) 63

79.

ST 300 Foreft e Yo sl 200 fed yaT@ A e, caren 31 VETERT 5 9@ 30 R
e, W 260 TFf vam oo ot 240 fRft SefR el oA @ oaen 6 fufe
ARSI des NS HEdl. ot Wwadt anft et v

(1) 100 fhi (2) 120fFft  (3) g0 T (4) 110 ferrft
Aman travelled 300 km by train and 200 km by taxi and it took 5 hr 30 minutes. But

if he travels 260 km by train and 240 km by taxi it takes 6 minutes longer. Find the
speed of the train.

(1) 100 km (2) 120 km (3) 80km {40 110km

80.

WIHE MSq JATES! @ 100 Hex Zfaorss Nen. def o sishe 95 200 Hiex Vem; g8 dt
TEfiFE Fed 100 Mot savela fimnse den. qyp fiewe @ e 400 W i@ =@wE
WSIFS Nell. T =R 9 wiredt qmwefied e foveft 9 wiredt awrean Hiorear fEdien omg 2

(1) 400 HieX gahs

(2) 600 et g&ws

(3) 600 e afv=iims

(4) 400 et wfeaiiey

Shahid, when he goes to school, goes 100 metres south. Then he turns left and walks
200 metres, he turns left again and walks 100 metres and reaches his friend’s house.

He came to school by walking the distance of 400 metres towards east. Find out the
straight distance of the school from his home and its direction.

(1) 400 metres to east
(2) 600 metres to east
(3) 600 metres to west
(4) 400 metres to west
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81. THEIFIH YREYH FHAERAT UMM e iaed ol et onfo @g@ whit v frasaen.
¥
»""},\(3
(1) (2)
e

3) 2 )

The left hand transparent paper sheet is folded along dotted lines and a small single

triangular fold is obtained. Select the most appropriate fold from the given options.

ENEEE
! >
1 & S | @)
AN,

(3) M | (4)
82, W B5DTER B? D afed ama.

BOD v B & D <t wdin ame.

B4D =& B @l D 91 9IS 3R,

B3D 73 B & D <t gkl MR,

e F&t K o1 3, @ aeifeomr wafa faaen,

(1) F3M5K (2) F5M3K (3) F9M4NSK  (4) F3M5N3K

If B5D means B is the father of D.

B9D means B is the sister of D.

B4D means B is the brother of D.

B3D means B is the wife of D. :

From this information, find the alternative which shows that F is the mother of K.

(1) F3M5K (2) F5M3K (3) FI9M4N3K (4) F3M5N3K
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83. “uRawE s=ar 91 AlEmHenla SEwn Aigaeel g s
YT Nenfire-seraivda Jor=mn TeivseaTan siigm A8, uRe & falma s 3w om 9é
T (|WATS) WAYE SR I AT FRITEET A0 hresell SrE0ATAT ST o Iq9 SR
TR UTg Wehal, & oW 891 yEvaE Wi el sEid i, S $Re, s, it dEem,
WA, Afde, FAddagH, awEE fimw, wm AT - Evee SE 89 ANETS o)
HE WEETE AME. NN ARHA AFIH Heaql W@ N I¥ § Henf and gee
HEETE! T2 373N &7 ! =0Tell Ml FF .

Tl mifedi=an gevfa I sritE=aA fae. .

. @@ﬁmﬁmmmsﬁmmﬁ“ww”%mm
BV T&t.

§. WA 49 YEET GO S S FedgS oH e, anfosa, seiaaeH, e wal
soare) & faerlaa TR yEe whaeEe e,

%. Iuhnd) IR A 3, YE 9 i 9@ areEtaNET WA i sEe, S,
T IV T 9 NIGHN FRIN AEETE] 94 M oA A9YHETE Re 31Ed I &

it I

(1) ST (2) wEAEIIH

(3) B TS () sa&ivwd

Study the following observation noted by author with respect to “Make in India”
initiative. |

India has no history of industrial-scale innovation. It is a trading nation and a
nation that does well in areas that require delicate craftsmanship and care, areas
that are (for want of better word) human in scale. It is also a nation that does well in
providing services. It could do better with better laws, incentives, and use of
technology, tourism, hospitality, fintech, international education and healthcare —
areas where human beings still count, where more personalised attention matters
and where machine and scales are less important.

Select the appropriate interpretation/s with respect to the above information.

a. The initiative “Make in India” will never succeed as India has no histery of
industrial-scale innovation.

b. Since India does well in providing services, therefore it should concentrate
efforts for developing areas like tourism, hospitality, fintech, health care etc.

c.  With better laws, incentives and use of technology, India should develop service
sectors rather than wasting time, money and land in setting up other
industries.

d. India can perform well in areas where personalised attention is important and
machines and scales are insignificant.

Answer options : :

(1) Allbutc (2) Onlybandc

(3) Onlybandd (4) Allbutd

Freed] HUTATS! ST / SPACE FOR ROUGH WORK
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aﬁmmwwﬁmaﬁrwﬂw@aﬁémﬁaﬁwmmmm
qq_ THam. Wmmﬁ%msﬁwﬂmmm%aﬁm
TIAFNET TouaTeEd SH AVEIE IR,

R HeE s, T faRiasren g gt Hom fram Reer.

(1)

(2)

(3)

(4)

T @ R Tras = JE e 9 Tl aaee o G,
TR QU] U Yot S S STl wHedye [ 37 e wehd TR
mmﬁmmnﬂﬁ@ﬁmmﬁmm

%me@ﬁhﬁ,ﬁ%ﬁ@ﬁwﬁﬁm%aﬁm
TR .

Many nutritionists claim that eating bread is not good for health as it does not

contain fibres that are essential for digestion. Opponents of the nutritionists’ views

state that examination of this bread eating generation is less nutritionally deficient

than their parents.

Select the statement that, if true, would tend to strengthen the opponents’ view.

(1)

(2)

(3)

@

Parents of bread eating generation were always eating fresh and home made

food for breakfast.

Parents of bread eating generation did not get to eat sufficient food due to

scarcity of food during their time.

Parents of bread eating generation did not get to eat sufficient food due to

poverty.

It is possible for anyone to eat low cost convenience food like bread that is
available easily whenever one is hungry and that is most important for a

person.
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85. Wefiel MG I qEATE HISSAEF FH HU § G SNRG Fe I @,
TG TSI Ticash TOEHY Iufedra gom= SHeane Fiffentor.
TR YT AR = 3 1@,

Ay
fa

TATIER, T8t 301 g6 9 AiEe 9 Ieas o,

| TS | TSN S9RE STl Un IUSERIS Zard | U SHGAR Ui
A 49 4:5
B 61 6:4
C 54 7:8
D 45 3:2
E 65 7:6
F 57 11:8
e 48 9:11
‘GFHQJQEf3ﬂwwzn3§q3ﬁaaﬂﬁﬁtﬂ§nﬁ$éi3ﬂ%?
(1) 4536 (2) 4568 (8) 5454 (4) 5544

Study the following graph and table carefully and answer the question.
Distribution of the candidates who appeared for competitive examination from seven States.
Total candidates appeared = 3 lakhs.

ﬂ

State-wise percentage and ratio of male and female qualified candidates.

18%

State J % of qualified over appeared Ratio of qualified
from each State candidates
A 49 4:5
. B 61 6:4
C 54 7:8
D 45 3:2
E 65 7:6.
F 57 11:8
G 48 9:11
What is the number of male candidates that qualified from State ‘G’ ?
(1) 4536 (2) 4568 (3) 5454 (4) 5544
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86. e @R ¥ W g TZ AT TOAET AIHl Segehd T 9SS, I A F e
T YOI T 0 T TR Rl g1 Al Geaditd g @i qear
e 0, =N wftda o 7 R aEren Juren graend Frer arEdl ar
“IiEvE @ “SieE” TEUR FawTE s[fivel U Tedw. wdie fafay s e dom dedt @
2 s o @ DR gdima frmavamEd Tee™ I .

i ufteaerear AMUR Heal 7 UM A Fas.

(1) &= @R 8 Wl § TR T TSR AEETET YU R,

(2) &R BR 7 Ty Ted om foer arfawrs Wi 3Te,

(3) A arEgehiaTdl 39 HO 7 foean Gaaren Fren A7nl o7,
T (4) R I AEEITH e T A g A fiesauarEn W A TR,

The river basin forms a critical link between land and sea, provides transportation
routes for people, and makes it possible for fish to migrate between marine and fresh
water systems. By acting as natural “filters” and “sponges”, a well-managed river
basin plays a vital role in water purification, water retention and regulation of flood
peaks. In many parts of the world, seasonal flooding remains the key to maintaining
fertility for grazing and agriculture. ‘

Select the statement that cannot be inferred from the above passage.

(1) For making a river sustainable ecosystem, it is necessary to develop
programmes for conservation of the river basin.

(2) The river basin is an integral aspect of a river that helps in purification of
water. '

(3) Using the river for transportation is good way of its conservation.
(4) If managed properly, rivers can be used as a good source for getting fish.

87. oN3 T fsrbhean TmAT WEW TEIATTHI FHel ATRA. SIMHTAT ISFeAT el W ITHHA, A
IeiRe HIOfE . $g2T T IO oA oNfed oM. FETAT IS SNEN N R, A
T A0S ISIHE ANE AR, 3ged §1 GUed UM IR, AT Ve a8 THI wIe
MR ? T AMF d T Jreawed forelt e} Imda 2
1 1 ’ 2 2
(3) 3 (4) 4

Eight friends are sitting to see a cricket match. Bharat is to the right side of Ashok,
but no one is to the right of him. Aadit is in between Indradev and Ganesh. Ganesh
is at the right side of Hussain. Ashok is exactly in the middle of Bharat and Dhanraj.
Indradev is Dhanraj's neighbour. Anjali is at either of one side. How many persons
are in between Ashok and Ganesh ?

L 1 @ 2
(3) *3 @ 4

YT FTHATI SR / SPACE FOR ROUGH WORK ' P.T.O.

B 7 T IR PN



13 38 A

88. 13 faumy 7 et Rt o, @ foum wew wm wo/A Frewd adbean aad snya. @ eiem
Hewid 3.

T THE IHEE gEHS .
®. T ygHD i AR,
Ay . 1. HE o7 R ggwa T
II. ©d 37 7 9568 A1,
1. e HEg 39 AR
IV. = a6Ee & ggwes T
it I
(1) @& e
(2) v 1,113 IV 3o1d
(3) e IL 11 & IV 3o
(4) wehat T 11, II1 3 IV Fory
Given below are statements and conclusions. Consider these statements to be true
and decide which conclusion/s 1s/are logically valid with respect to them.

Statements : Most apples are mangoes.

P

b. No apples are berries.
c. All berries are mangoes.
Conclusions : 1. Some mangoes are not berries.
II. Al mangoes are not berries.
III. Some épples are mangoes.
IV. Some apples are not berries.
Answer options :
(1) Al are valid
(2) Only], Il and 1V are valid
(3) OnlyIl 11 and IV are valid
(4) Either I or II, IIT and IV are valid

eyl THETATS! ART / SPACE FOR ROUGH WORK
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89.

39 STE

TeReHTAdIE TFeh A1 Wead JATER Sfiad ® e Jerfl araciel ST Snfr = ST SgE
HT YT AR, 32§ = NGO A I q IeheAT A= AHR | e wiasd A
AR, A WEE TRF TeE WA dieadie Yol 3Tl el WEeeAl SYaEd
Fioyem FH TG E U0 FANEEH 9 B T WG STHA. TTESAT qUTSAT geid oI
TEMS “F” Saave 3Ed. 3¢ draerd qeuTal IS S o
@ Nty IrET FAS 3R A d WM SRS T WU T80T HUd. T §gRAie) 1.
TFEE A TR i gy ool g ww o7, wRomf 3 Wiiest @i wEeHR 3t AL
(1) Zam Torenf R TATeE TS Jere QUiadt STaciey S|uarET JUal 1.
(2) T AT 3T SEwITEAT JRUNS FHTET ITNT H6A gUTS SAIH drera Ie91ed
F Y TR, ‘
(3) e qUH TN STECAE TTET IR AYATIRIT FHRTHRY IS i Jgel.
(4) Ier=n g ufiles shoes S ST IR AMEdE HeEETHeT JYRTIETd! Al
. |

The existence of Rajasthan’s nomadic Raika tribe revolves around its camels and

they are experts in camel rearing practices. Camels for them are a source of

nutrition and the size of a herd is a measure of prestige. Every member of this

community is expert in identifying each camel of his or her herd by pugmarks.

Similarly, by smelling the milk they can identify a female camel. Camel milk

contains less amount of calcium but is rich in chlorides and phosphorus. It contains

ten times more quantity of vitamin “C” in comparison with cow milk. Camels live by

eating foliage of shrubs that grow in the desert therefore that milk has many

medicinal qualities. Camel] milk contains special kinds of protein that act as natural

antibiotics and it is believed that it protects people of this tribe from diseases. It also

contains insulin. Raikas believe that selling milk is a sin. As a result, keeping

camels is not profitable for them.

Select the conclusion that can be derived on the basis of information given in the

passage. :

(1) ICQFalities of milk provide evidence of Raikas complete dependence on camels for
ife.

(2} It is possible for Raikas to use their traditional knowledge of rearing camels for
producing milk commercially.

(3) Since camel milk contains insulin, it can be used for treating diabetes in
general.

(4) Since camel milk contains natural antibiotics, it can be used for treating
diseases in general.

90.

wH wiga 70% femdf Sefte sl e, 65% fammeff hmm sl s, 25% faamf
forwama argefil @1, sr 3000 el 4 fawema sl e s, o TR fedt et
it feeft 2

(1) 7500 (2) 5000 (3) 6000 (4) 8000

In a certain examination, 70% students passed in English, 65% students passed in
mathematics, 25% students failed in both the subjects. If 3000 students passed in

both the subjects, then how many students appeared for the examination ?
(1) 7500 (2) 5000 (3) 6000 (4) 8000
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91.  HENISRAT TH-ITE1 ARl (2013 — 2014) =1 379419 4 2100 4 I @1,
Study the rainfall map of Maharashtra (2013 — 2014) and give suitable answers.

Rainfall Map of Maharashtra
WERTTA A U=aaT
2013 2014

)

. 2014 THR AERISGIAT HeAadd HETG §O8H 99 0 F 80 T9e TR,
¥ 2013 THR TERISZAT I 120 T AT 60 TR} T80 Teae.
. e, TS d HFHUTA! IY 2014 TARX 120 9 TUEN T THT IS4l
T,  HERTSR 2013 UET 2014 WX qraEr W01 SR T8,

gt I

(1) 1 S0 (2) &K

(3) AT TR (4) HIEWH

a. According to 2014, the annual average rainfall in the middle part of
Maharashtra is 0 — 80.

b.  According to 2013, the average rainfall in the northern part of Maharashtra is
120 and above. '

c.  In 2014, the rainfall in Dhule, Jalgaon and Amaravati is 120 and above.
d. In 2014, the rainfall percentage in Maharashtra is higher than 2013.
Answer options :

{1) ais correct {2) bis correct

(3) a andb are correct (4) candd are correct

FTeT HHTATS ST / SPACE FOR ROUGH WORK



A 41 13
92. YR T G TR greuiieh fhdl el e EgE e ?
(1) 40 (2) 25 (3 20 4y 15
What is the percentage of iron ore reserves in Maharashtra out of the total iron ore
reserves of India ? :
(1) 40 (2) 25 (3) 20- (4) 15
93, WM e A
TR Rrem
A f= i AgER
C A ii. SoTE
%, ARUHTS iii. @R
S iv. SRR
gt I
A o CD -
(1) iii iv ii i
@ ii i v i
3 iv iii i ii
4 1 ii iii iv
Match the following :
Mountain District
a. Chikodi i.  Nandurbar
b. Madhoshi ii. Jalgaon
¢c. Toranmal iii. Satara
d. Hasti iv. Kolhapur
Answer options :
a b c d
(1) i iv ii i
(2) n i iv iii
3 iv iii i ii
4 i ii iii iv
94. 20019 2011 I FFVRFHR HERTERIS AIERA=T B fohdt 28 3R ?
(1 +524 (2) +540
(3) -452 (4) -348

According to the Census of 2001 and 2011, the difference between the percentage of
literacy rate in Maharashtra is '
(1) +524 (2) +540

(3) -4-52 (4) -348
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95, HERIIIIA Vel Y [qurma data s e ameq ?
(1) e (2) =i (3) oiNETE (4) g
Which administrative division of Maharashtra has maximum number of districts ?
(1) Amaravati (2) Nashik (3) Aurangabad (4) Nagpur
96, el Mg HENSIS SEhE fmTaT ey Suhean e F7 ol
A TR §. A1 %, FHOE g fiemerg 3w
ot I |
1) 3,9,8, A, % (2) 8§, 39,9, %, N
3 9,8,%,3, A 4) §,9,9,9d,
Arrange the following administrative regions of Maharashtra as per their area in
descending order :
a. Nagpur b. Nashik ¢. Amaravati d. Aurangabad e. Pune
Answer options:
(1) eb,da,c (2) d,e,b,c,a
(8) b,d,c,ea (4) d,b,e,a,c
97. Arg AN Yot (nREme anfor fem) ¢
AANTE ‘ (4
H WR i 4B
4. W i, T
F. IR iii, 3TRIAT
3. FA iv. agi
QUi I
H q <h k=
1y ii iv i iii
(2) iii i iv ii
3y iv ii iii i
(4) iv 11l i i
Match the following pairs (Sanctuaries and Districts) :
Sanctuaries Districts
a. Bor i. Dhule
b. Narnala ii. Raigad
c. Aner iii. - Akola
d. Karnala iv. Vardha
Answer options :
a b c d
(1 i iv i iii
(2) 1w i iv il
3) iv i iii i
4 iv 1ii i ii
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08. wIFHUNA FVCHT THIEAT &= Weed A1E ?

(1) frgween (2) Higa

@) mEda 4) wIHR

Which type of settlement is dominant in Konkan ?

(1) Scattered (2) Concentrated
(3) Disconnected (4) Composite

99. mmmmwmmmmmm

A, FHUREH UR Y R

¥, e g T, Yamws g
v =

(1) 8, %,9, A (2) #,9,%, A

3 I, A, 8, (4y #H,8,, o
Arrange the following physmgraphlc features in the Sahyadri in a North-South
orientation :

a. Kumbharli Ghat b. Varandha Ghat
c.* Raigad Fort d. Pratapgad Fort
Answer options :

(1) d,c,b,a (2) ¢,b,d,a

(3) b,ad,c (4) a,d, e, b

100. Gl faum gg st Ipg fgmrh fas w0
A g E A A ST R,
9.t T afverarfE T v e .
% a7 qd e area W,
3.t €N @i @ At @R v siieee .

o 391 ;
(1) 1,9, | 2 #,9,%
3 49, «,% 4) 5,49, %

Read the following statements and select the suitable ones.
a. Purna river is a tributary of Tapi river.

b. Tapi river known as western-flowing river.

c.  Tapi river flows in the Eastward direction.

d. Tapi river basin is known as Tapi-Purna basin.
Answer options :

(1) ab,d : (2) a,b,c

3) b,e,d (4) d,b, ¢
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(8) wergfere fafta Foew fafte srfe = =m (@ 76) W@, nﬂgfﬁémﬁﬁﬁamﬁ%mmm
mﬁmmammm%—am I YN IS 9 AR INGGRE WA
It FAen vhgme Forn domRim siiey FwamEme sfrfem-g2” wde wEdaeEn s
mﬁ%aﬁaﬂwwmﬂmmﬁ/ﬁmmﬁwmmmﬁrm

T3 .

(9) wmm%mhmmﬁmﬁ&mmaﬁmﬁmﬁmﬁ
US4 AT TEE SR, Wi Glgnsananst AwdrgHi Iieam siaedwt Iwvafden W1
WAy 7 e wm w5 Aravas sne.

. . 201.

N. k. 201.

1ol URS
T o T TSt vl e e e ?
(1) @t garg S (@ vy e
) T TAHIE T3 (4) T ed
T TR AR I (3) TS TeEiET UE o R, WIS W W SWO(3)) aee.
TRAE G 5 %, 201 qufle I (@) ® ade Uil oRifed A
@I S TR ,

®© ©®@ @& ©

M TG T TEgRhdIel Sedh Wl gaE I-shAiH &1 Jreten Tasien queen
IoRFEa o @ YEEIEEEe daftia ade i swifed $F qrEamE. g
e T WITES &Teras o, Ufrer an ymdR 9 e .
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TS AT : WERTE §299 Qe SR Te-a (%) Te-2019

T F T8 UETehdar W T (Y0¥ . 2)

foa: - QT HAT ST T USTEAT HASATEIe! ATAIEE WA

e famiew : 24 AR, 2019

TR THehaT SR “ HERTE, S Hal SRS 29 (T89) Wien-2019 — Ia &Y Fiterh ugradten w@es
AU (YOT 2)” 1 L] Qe SYUReRel S STRATeR SHEARIeAT Aiied9a] ehaeeTa UiHes sivard STel gidl.
TSI SHCARIAT SO (Authentic) TTRIRRUT / WY S UISTTeicll i@l e, e deaie 3w foema
FIST, ST STRATCTRT R Fedl 3. A JTRATARAT ST ST THSTUAT Fefiet, AR STele s faammd
FEICTCAT STTOTIR TR T o Tl VT ToedagR Shell STOTR ATEY, AT T g =,

| Feetert - KEY
ShHTh I A | B | C D HHIER | AIA | B | C |=aD
1 2 3 2 4 26 2 2 3 1
2 4 4 3 4 27 1 4 2 2
3 3 4 2 3 28 1 2 1 3
4 3 3 1 1 29 4 4 4 2
5 2 2 2 # 30 4 3 4 4
6 2 3 2 3 31 3 4 3 3
7 2 2 1 2 32 3 4 3 1
8 2 2 1 1 33 3 3 2 3
9 3 3 4 4 34 3 1 1 4
10 2 1 4 4 35 1 # 4 #
1 3 2 3 3 36 2 3 2 4
12 4 3 3 3 37 4 2 2 4
13 4 2 3 2 38 2 1 4 2
14 3 1 3 1 39 4 4 4 1
15 2 2 1 4 40 3 4 3 2
16 3 2 2 2 41 4 3 1 1
17 2 1 4 2 42 4 3 4 1
18 2 1 2 4 43 3 2 3 3
19 3 4 4 4 44 1 1 2 1
20 1 4 3 3 45 # 4 1 1
21 2 3 4 1 46 3 2 1 3
22 3 3 4 4 47 2 2 2 3
23 2 3 3 3 48 1 4 3 #
24 1 3 1 2 49 4 4 2 2
25 2 1 # 1 50 4 3 4 2
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